Flat roof installation

Attention

Do not tight the bolts on the upper aluminum profile

®,
I.n @
©,
9,
0|0
1030/2000
0|0 g
9|0
0| 1370 0
9
1370
1370 . 1370
956/1152/1550
U
o,
©
©,
©,
)
%,
968 o)
s
968 U
%, 0|©! g
%,
%
U
0
2000
'®,
1120
7,
®, 00
f ', o.
Z 7
1030/2000 o/, 2000
%,
Attention
Centered

Bill of materials

SB238FR

L bar 2000mm

2

L bar 1370mm

L bar 1120mm

L bar 968mm

U tank

L tank

Cross bar 1152

Aluminum pr 2000mm

Bolt M10X25

Flat washer M10

Nut M10

ISIISIENY
BIS IR [rorono(rororo|

Sink bolt M10X20

Anchor bolt M8X50

Plastic anchor D10

ENENTY




Flat roof installation

The front cover is optional.

Push inside the tank and tight well
A Niote péoa v Sefapeviy kat odi€te kad.

r 2 VA

Closed loop connection with fiber

_ Back view _

All valves must be drained according

to regulations

_ Push inside the collector and tight well

The hot from collector pipe should have upward direction

For model A238

the ground.

The tank’s openings should be vertical to

Installation of the T/P valve (optional)

AL

Bill of materials

Safety valve 3 bar

Nipple %M X 4'F

Safety valve 6 or 10 bar

Nipple %"X %M

Plug %" M

Safety valve T/P (optional)

Elbow %" X %"M

Compression elbow @22 X %" M

Compression plug @22

Compression connector @22 X @22

Fiber gaskets

Insulated stainless steel pipe DN16 (short)

Insulated stainless steel pipe DN16 (long)

Long pipe holder

Thermal fluid ANTIFROGEN SOL HT ()

IK230FB
1

[NCY N PN PN

INJENSIENITNI

4
1050mm
2600mm

2

3




